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Aduda V- A U B

35- It was very cold today, if it ........warmer, we ......... football in the
yard.

a) get/ can be played b) got/ would go

¢) got/ could play d) gets/ can go
36- Neda: "Hi Maryam. Do you know why Hafez ......... for?”

Maryam: “Yes, for a special type of poetry that is called Ghazals.”

a) mainly remembers b) was mainly remember

¢) mostly remember d) is mostly remembered
37- Wind turbines ... the kinetic energy in the wind into mechanical
power.

a) contain b) consume ¢) consider d) convert
38- A: "Jack, what's the problem in your town these days?"

B: "You know a very hard winter boosted the ........... for natural
gas.”

a) hydropower b) demand c) fossil fuels d) turbine
39- Mr. Karami is talking to his daughter about her illness in the hospital.
Mr. Karami:" Sima,........... physician was responsible for your treatment?"
Sima: " Oh, look .The woman ............ is taking temperature of that little
child."

a) who / which b) which / whom  ¢) which / who d) whom / which

> Recycling is necessary if we want to save the world's
resources for our prospect generations. It is a process of turning
waste to new material or product. This is an outstanding way to
...... 40.... the environment. In fact we change waste material into

something ......... 41
40-a) protect b) produce c) pollute d) process

41-a) countable b) invisible c) usable d) changeable
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> Read the passage and answer the questions:

A hearing device is available for some people suffering from

hearing loss. This device uses a magnet. Like other aids, it U
converts sounds into vibrations and transmits them directly to

the magnet, and then to the inner ear, producing a clearer sound. The
device helps those with a hearing loss caused by infection or other
problems in the middle ear

42- The pronoun “it" refers to............
a) magnet b) inner ear ¢) vibration d) hearing device

43- The passage says that this is the first time that a device is able to
change sound to vibration and produce a clearer sound.

a) true b) false
44- Read the topic sentences below then decide which one includes a topic
and an explanation about the topic.

a) Language is a communicative system.

b) Addiction can be harmful to health.

c) A foreign language may be learned by watching movies.

d) My classmates respect the teachers greatly.
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